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Time: 40 minute

1. Let a finite automaton be —

e Q={a, b,c}
¢ X={0 1}

® Qo=2a

e F={c} and

e Transition function & as shown by the follow'ng taple —

State 0 1

d

Find its graphical rep

a b

resentation. It is DFA O NFA? (3)

2. Differentiate between DFA and NFA. (3)

3. Design an NFA for 2 language tha .
1’ Then convert it to it's equivalent DFA.

always

4. Prove

that an NFA accepting st

t accept all strings OVer (0,1} in which the second last symbol 1S

(5)

rings that end with 01. (8)




